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NAME DATE PERIOD

Test, Form 3A SCORE %L

Find the volume of each figure. Round to the nearest tenth if
necessary.

-5 no units listed

1.
items not rounded O
76.6
1.
2.
18 m
600
2.
3. A storage shed with a flat roof is 4 yards long by 3 yards wide by
2% yards tall. A cubic yard is equal to 27 cubic feet. How many cubic 210
feet of storage space does the shed enclose? @ )
4. What is the volume of the square pyramid? Round to the nearest
tenth.
-1 decimal in wrong place
(W
5. What is the circumference of a bagel with a diameter of 36.4
11.6 centimeters? Use 3.14 for 7. Round to the nearest tenth. 5. Eli

6. Find the area of the circle. Round to the nearest tenth. _ :
Use 3.14 for 7. 1 II’%C&

7. Find the area of the shaded region.

12ml 9y -1 inc
- Nokn S
44m 132m EJ—
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Cruz Gutierrez
I see you in class but you are not working on this test.















Cruz Gutierrez
you still have to multiply by 27
















NAME DATE

Test, Form 3A  (continved)

8. Find the surface area of the cube.
7m

1
1
1
1
1
1
1 7m
--|_Ja=
Y
N
Y

7m

9. Find the volume of the pyramid.

16 ft
41t

6 ft
10. Find the surface area of the pyramid.

8in.

5in.
5in.

11. Find the volume of the composite figure.

4m
I\ om 20
1 N\
12m
432
6m
6m

PERIOD

SCORE

-1 inc 5

-1 inc @}m\—

-1 inc

-1 inc 11]
%k

12. Find the surface area of the composite figure in Exercise 11.

-1 inc

13. A drawer is shaped like a rectangular prism. It has a length of
17 inches and a height of 6 inches. The volume is 1,428 cubic 14

inches. Find the width of the drawer.

13.

-1 seco

two possible sets of measurements for the base area and height of 475x 4

14@tangular pyramid has a volume of 190 cubic centimeters. Find

e pyramid.

)

14.
=70
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Cruz Gutierrez
190 x 3 and what every you get you need to find two different combinations that when you multiply those three numbers equals what 190x3 is














